KpaHbl LHapoBble pe3bboBble HP/HX
TexHn4yeckne xapakTepucTukn

ApxaHrenbck (8182)63-90-72
ActaHa (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropog (4722)40-23-64
BpsiHck (4832)59-03-52
BnagmsocTok (423)249-28-31
Bonrorpag (844)278-03-48
Bonorgaa (8172)26-41-59
BopoHex (473)204-51-73
ExaTepuHbypr (343)384-55-89
MNBaHoBo (4932)77-34-06

EAVIHBIN aapec AnsA Bcex permoHoB: bya@nt-rt.ru | | www.bray.nt-rt.ru

WxeBck (3412)26-03-58
NpkyTck (395)279-98-46
KasaHb (843)206-01-48
KannHuHrpag (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Knpos (8332)68-02-04
KpacHogap (861)203-40-90
KpacHospck (391)204-63-61
Kypck (4712)77-13-04
Nnneuk (4742)52-20-81
Knprunsns (996)312-96-26-47

MarHuToropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93

HabepexHsble YenHbl (8552)20-53-41
HwxHwnii Horopog (831)429-08-12

HoBoky3HeLKk (3843)20-46-81
HoBocnbupck (383)227-86-73
OMCK (3812)21-46-40

Open (4862)44-53-42
OpeHbypr (3532)37-68-04
MeH3a (8412)22-31-16
KasaxctaH (772)734-952-31

Mepmb (342)205-81-47
PoctoB-Ha-JloHy (863)308-18-15
PasaHb (4912)46-61-64

Camapa (846)206-03-16

CaHkT-MeTepbypr (812)309-46-40

CapartoB (845)249-38-78
CeBacTtononb (8692)22-31-93
Cumbeponons (3652)67-13-56
CmoneHck (4812)29-41-54

Couwu (862)225-72-31
CraBponorb (8652)20-65-13
TafkukncTaH (992)427-82-92-69

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TtoMeHb (3452)66-21-18
YnbaHoBck (8422)24-23-59
Yoa (347)229-48-12
XabapoBck (4212)92-98-04
YensabuHck (351)202-03-61
Yepenosel, (8202)49-02-64
SApocnasnb (4852)69-52-93


mailto:bya@nt-rt.ru
http://www.bray.nt-rt.ru

KpaHbl wapoBble pe3bb6oBble HP/HX

Flow-Tek’s Instrumentation Series ball valves offer
rugged reliability for high pressure and instrumentation
applications. The valves feature three piece bodies
designed for flexibility of installation and ease
of maintenance. Both models HP and HX are
constructed as standard with 316 stainless steel bodies
manufactured to NACE specifications. Other body
materials are available such as Duplex SS, Hastelloy®,
Monel and Titanium. All bodies are marked with a heat
code for full material traceability.

A floating ball design provides a positive, bubble tight
shut off with smooth quarter turn operation at low
operating torque. Additional Instrumentation Series
advantages include a choice of lever or pointer handles,
travel limit stop pins and replaceable seats and seals.
Locking kits which secure the valve in a desired position
are also available.

Safety features include an internally loaded blow-out
proof stem and end connections that are pinned to
prevent inadvertent loosening or disassembly.

Actuator Mounting: Model HP and HX valves are
available with actuator mounting drilling as an option.

Model |Size ;re§sure LI PENETE End Connections Body .
ating Range Material
HP 4" to 1" 8to 25 mm 6,000 psi -40°F to +280°F
' -40°C to +138°C_ |Standard: NPT :
™ 4" t0 14" 810 15 10.000 Dsi -29°F to +500°F Optional: Compression Fittings Stainless Steel
a7 to i stodomm 10,000 pst 340 15 1260°C




Dimensions Model HP Actuator Mounting Cv Torque | Weight
e A | %l ¢ | b | oE| F | oG |Fats| H s | oT V  [|USGPM |lbsins Nm | Ibs. kg
Va 28 | 039 1.8 4.5 1.3 0.6 .38 .28 1.9 1.0 1.2 | M4x0.2 75 45 1
8 71 10 45 115 32 16 9.5 7 49 26 30 M4 x 6 ' 5.1 46
%8 30 | 039 1.8 4.5 1.3 0.6 .38 .28 1.9 1.0 1.2 | M4x0.2 75 45 1
10 77 10 45 115 32 16 9.5 7 49 26 30 M4 x 6 ) 5.1 47
Ya 3.3 | 039 1.8 4.5 1.3 0.6 .38 .28 1.9 1.0 1.2 | M4x0.2 75 45 1.5
12.7 85 10 45 115 32 16 9.5 7 49 26 30 M4 x 6 ) 5.1 .68
% 3.5 | 050 | 2.0 4.5 1.5 0.59 .50 .36 2.1 1.0 1.2 | M4x0.2 75 1.9
19 90 12.7 50 115 38 15 12 9 52 26 30 M4 x 6 8.5 0.85

1 44 1079 | 24 6.5 2.0 1.1 .50 .36 1.6 1.6 | M5x0.3 180 3.43
25 111 20 60 165 50 27 12 9 _ 40 40 M5 x 8 20.3 1.56
Dimensions Model HX Actuator Mounting Cv Torque | Weight
Sze oA | 9B 1 ¢ D | oE F | oG |Flats| H s | oT v US GPM | Ibs-ins N | Ibs kg
Va 3.2 0.39 1.8 4.5 1.3 0.6 .38 .28 1.9 1.0 1.2 M4 x 0.2 75 50 1
8 81 10 45 115 32 16 9.5 7 49 26 30 M4 x 6 ) 5.6 .46
) 34 | 039 1.8 4.5 1.3 0.59 .38 .28 1.9 1.0 1.2 M4 x 0.2 75 50 1
10 87 10 45 115 32 15 9.5 7 49 26 30 M4 x 6 ) 5.6 47
1a 3.7 0.39 1.8 4.5 1.3 0.6 .38 .28 1.9 1.0 1.2 M4 x 0.2 75 50 1.5
12.7 95 10 45 115 32 16 9.5 7 49 26 30 M4 x 6 ) 5.6 .68
@Indicates round dimensions. O Indicates square dimensions. Note: Optional actuator mounting drilling must be specified when ordering.
< D > Actuator
Mounting
169 1-33"‘ (Optional) -
et g B _f - “'f_ ° G . V QT 25
F i ’ 4—1 - S 26
S : I $ o T
y 2 —~ = 14
" —ﬁ T c j‘_ 1 5
l * "|_ _|_ _|__ Ok l d} $‘ Components & Materials
Item | Name Material Qty.
oB j = l 1 [Body Stainless Steel 316 1
2 | End Connector Stainless Steel 316 2
< A > 3 |Ball Stainless Steel 316 1
4 | Seat* PVDF / PEEK® 2
5 |[Stem Stainless Steel 316 1
Pressure /Temperature 6 |Body Seal* PTFE 7
12000 12 | Thrust Washer* RPTFE / PVDF® 1
—_ 14 | Stem Packing* RPTFE 1
-210000 15 |Packing Gland Stainless Steel 1
; 8000 HX PEEK 19 |Lock Washer Stainless Steel 2
5 23 |[Stop Pin Stainless Steel 1
7 6000 ,
n 25 |Lever Handle Stainless Steel 1
g 4000 25a |Pointer Handle Mazak 3 1
2000 HP PVDF 26 |Lock Nut Stainless Steel 1
28 |Handle Sleeve Vinyl 1

50 0

A 3-way version of the Model HP valve is also available. Please see Flow-Tek brochure 3HP.

Temperature (°F)

50 100 150 200 250 300 350 400 450 500

® Model HP Seat: PVDF, Thrust Washer: RPTFE
Model HX Seat: PEEK, Thrust Washer: PVDF

*Parts included in the repair kits.




ApxaHrenbck (8182)63-90-72
AcTtaHa (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropog (4722)40-23-64
BpsiHck (4832)59-03-52
BnagmsocTtok (423)249-28-31
Bonrorpag (844)278-03-48
Bonorga (8172)26-41-59
BopoHex (473)204-51-73
ExaTepuHbypr (343)384-55-89
MBaHoBO (4932)77-34-06

EavHbI agpec ans Bcex pernoHoB: bya@nt-rt.ru | | www.bray.nt-rt.ru

W>xxeBck (3412)26-03-58
NpkyTek (395)279-98-46
KazaHb (843)206-01-48
KannHuHrpag (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Knpos (8332)68-02-04
KpacHogap (861)203-40-90
KpacHosapck (391)204-63-61
Kypck (4712)77-13-04
JNnneuk (4742)52-20-81
Knprusms (996)312-96-26-47

MarHuToropck (3519)55-03-13

MockBa (495)268-04-70
MypmaHck (8152)59-64-93

HabepexHble YenHbl (8552)20-53-41
HwxHwnii Hoeropog (831)429-08-12

HoBoky3HeLK (3843)20-46-81
Hosocnbupck (383)227-86-73
OMCK (3812)21-46-40

Open (4862)44-53-42
OpeHbypr (3532)37-68-04
MeH3a (8412)22-31-16
KazaxcTtaH (772)734-952-31

Mepmb (342)205-81-47

PoctoB-Ha-/loHy (863)308-18-15

Pa3aHb (4912)46-61-64
Camapa (846)206-03-16

CaHkT-MNeTepbypr (812)309-46-40

CapaToB (845)249-38-78
CeBacTononb (8692)22-31-93

Cumdeponons (3652)67-13-56

CMoneHck (4812)29-41-54
Coun (862)225-72-31
CraBpononb (8652)20-65-13

TagaXnKncTaH (992)427-82-92-69

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TromeHb (3452)66-21-18
YnbsaHOBCK (8422)24-23-59
Ya (347)229-48-12
Xabaposck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosel, (8202)49-02-64
Apocnasnb (4852)69-52-93


mailto:bya@nt-rt.ru
http://www.bray.nt-rt.ru



